


















































What is the difference between these problems? 
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Classification with Localization: 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
What would the loss function be if you used cross-entropy loss for 
classification outputs and MSE for regression outputs?  
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What is the theoretical underpinning of this loss? 
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What are some concerns about doing landmark detection as described?  
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

Noise in location a person Wald tag

may be ambiguity in what a landmark means



 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
How do you pass larger image fragments into the same classifier? 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



 
 

 
 
By changing these fully connected layers into convolutional layers, what does 
that now allow us to do? 
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YOLO Training


